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Instructions for Candidates:

HUAT URA-GIET!, NTAIR M Td seR-giecar & & v
IGERUIC I LR

Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

UREA-GRedehT foedl Td 3Ieh Hwr # ¥ odemil s foma
F foT Tl U 9w FT TIST H FbhdT § (3ATT IT A
RSy & 3ide) |

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one language (i.e.,
either Hindi or English)

3H AlSYe/UU & g HFT ¥ HFT TP H IR U 3R omr
g & ufg e &

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

W T ‘dehfoues’ YR & & ToT8d Fel 3 40 & TAT AT
g, ‘IfhmE ghR & 3R 586 T 3F 60 B

PART ONE is Objective type and carries 40 Marks. PART
TWO is subjective type and carries 60 Marks.

HET Uh & W, 39 UA-UF & WY & TS HTANR FR-
gfeasr W, 389 @A U srgeet & 3gER @ fF I= R
T @ H S-GRTH F HET TH F IR A A A
=ifevl

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the question paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

T U & o 3if¥edd @Fg @9 ud guel Auia &
TS ¥ HIOT & H STR-YRADI, HET UF BN SaX-GReded ST
A & T & el genfy, fAuiRa wh 8¢ & uge #er
Th QU e drel qlendl HET U & Ser-giEder et
&l Hioa & qId a1E, HET & A STR-GRdHT of T &

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the answer sheet for PART ONE is returned.
However, candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the answer sheet for PART
ONE.

wemff, sufrufa-ufer @ emER fhr e AR e
FR-gieaer, e o @ R, oler e /e G
Ols ghd 1 W a8 e W, gdendt #r 39 Asgw /
IR #F 3R BT T G seem

Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing
over his Answer sheet to the invigilator. Failing in
doing so, will amount to disqualification of
Candidate in this Module/Paper.

WA B W d Ay Few & uuig wd 3
for@ar 3IRFH R @ g 3eflcar Ig Sifg X glafa
A o F wA-gRds yds =¥ & agof ¥

After receiving the instruction to open the booklet and
before answering the questions, the candidate should
ensure that the Question booklet is complete in all respect.

dle: A Redr aEmor 7 #15 IR/ Reafa s el &, @ 38 e 7 396 d@wor & A @em |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

STdl T I el o SV, dd deb YEA-gfEdehl o Tlel|
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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1.1

1.2

AT U / PART ONE

@M uAT F 397 S |/ Answer all the

questions)

I U WA &b 3R F B ey G T |
T G930 fAheT g 3R 38 UeA-uT &
HIY 3UAY FNIT T “HTANR” 301 TT6 H,
35 Rw arw e & 1R, gt |

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the
“OMR” answer sheet supplied with
the paper,

instructions therein.

question following

(1x10=10)

Ig Pi Tr gfarhr & et g=ieT ararar
T8I0 & Hedihd A BT & ?

(A) 3TELIR. (B) 3ITA3NR.
(C) TAIRHIR. (D) TATLIR.

Which is the technology used in the

evaluation of aptitude test?

(A) OCR (B) OMR
(C) MICR (D) MCR
SQL & quT ¥7 &

(A) ¥uss F e
(B) TgFTs FA ada
(C) AEFE FA ofodat
(D) ToFeH F dvdst

SQL stands for :

(A) Standard Query Language
(B)  Structured Query Language

1.3 @& & O Bl a1 v s3dae fMex g 2

(A)  ©sR

(B) gd-alc

(C) sie-dfearq

(D) SWID PIS el

Which of the following is an impact
printer?

(A) Laser

B) Inkjet

(C) Dot-matrix

(D) None of the options

1.4 CEATdel ¥ CFEE P e Pl b [T,

ol &Y gamd |
A) Ctrl 3RV
B) Ctrl3kC
(C) Ctrl3RA
D) Ctrl3dRkX

To cut text from the document, press
the keys

(A) CtrlandV
(B) Ctrland C
(C) Ctrland A
D) Ctrland X

1.5 38 (1363.45,~2) GRoTH T &
(A) 1400 (B)
(C) 1363.45 (D)
ROUND(1363.45,—2) returns

-1364
1464

(A) 1400 (B) -1364
(C) Shortest Query Language
(D) System Query Language (©  1363.45 (D) 1464
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1.6 THILEE. (BCD) Bocaraae s &

Rore ST e ST ATl Riew o T
@ 2 B) 4
© 6 (D) 8
The number of bits used to store a BCD
digitis:
A 2 B) 4
© 6 D) 8

1.7 JASHTEIIN P dEr AT e |
(A)  3fFed YoTTel
(B) & Sf¥aer otrell
(C)  STaaHel goelt

(D) gy FaR yoTel!
Numbers in base 8 are called as
(A) Octal System

(B) Hexadecimal System

(C) Decimal System

(D) Binary Numbering System

1.8 ahMNcaSHIEH __ Ped g |
(A) weFhd feH
(B) dHhgH
(C) TFad adheficH
(D) UFHAIH
A collection of worksheets is called as
(A)  Excel Sheets
(B) Workbook
(C) Excel Worksheets
(D) Excel Book

1.9 dISaRY G&AT 1110 SRrF T G&IT &

TR E |
@A 3 B 1
o 7 D) 14

The binary number 1110 is equal to the

decimal number
@ 3 B 1

<© 7 (D) 14

1.10 HAAR-UF & Ugfd & Picld delled & folw
T & @ fopgepT 9T TR STaT & 2

(A) widc T

(B) T 3gE T

(C) 3HC ATy

(D) e FraH

Which of the following is used to create

newspaper style columns ?
(A) Format Tabs

(B) Table Insert Table
(C) Insert Textbox

(D) Format Columns
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2. &R & 1 YA FEROT AT A WE AT Each statement below is either TRUE
ST § TH q9Q 3ugh Rea gﬁf 3R or FALSE. Choose the most appropriate
3T fAheq WA-UT & AT 3Ty Y one and enter your choice in the “OMR”
T “HTANR” 3 996 A, Gu 71w [ger answer sheet supplied with the
353-@?11 ot A (1x10=10) question paper, following instructions

therein. (1x10=10)

2.1 TAIMSHLIR. (MICR) &1 3 & #Avafesn 2.1 MICR stands for Magnetic Ink
sh FLae PN Character Reader.

2.2  Zerg & arforepr, e 3tk R enfae & 2.2 Database can contain table, query and
A | report.

2.3  FFQUT dol IR g wsefic # 3 2.3 Absolute cell referencing always refer to
AT B FEfAT AT & | the same cell in spreadsheet.

2.4 R AAY WALy, gRT A9 yrg & S 2.4 Volatile memory is directly accessible
Thar e | by the CPU.

2.5 Hs HWRE feerd uamd #Alsged & 2.5 Many operating systems are designed
TTEH T A R AU | as collection of program modules.

2.6 HCICIHEHI B FATATAY NATJIT o Fea 2.6  Multitasking is also called parallel
T processing.

2.7 UST We3Y ded THA.UH.T8 H g A A 2.7 Page setup option is in Table menu in
T MS Word.

2.8 T TSt & USRS S ufderd 500 ¥ | 2.8 Maximum zoom percentage in word

document is 500.
2.9 8 TIeq i v [Bgar Y a1 e ¥ |
2.9 A string of 8 Bits is called Byte.

2.10 AR 9T T e & SN aRaR gIieT
ICrRCIGECIC m\—’.ﬁ', Ifperg 31X 3T 2.10 The Recycle Bin is a folder that
ST P TIE A b AT T m provides a convenient place to store
AT U AT | frequently used documents, graphics

and other files.
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3.  @fad X A (Y 7w ee 3R arerdt o1 e dfers Y 3 o arw Repeaer Feiftia 3reh / ereel / arerat
A Y| 3 o T e BT UIeTal I T TS TAehey URA-UF & MY A 70 “JHTHIR” 3R

TAF H ol A | (1x10=10)
X Y
31 | Uh gWETEI B AR F AT o | IfERf-eies gfie
3.2 | Tuag HTQEiEyR 3R
3.3 | POHE H hE ITARTH Hargor T B § s AT o7 RaHs
_ PedEI
3.4 | GAYYSH SolFCiAb HTgeX AT | ARYATEH-AIfoS Ffae
3.5 | TUH.EL3ITE.3MS. (ASCII) T quT &7 & Yoo Ty A
3.6 31U f&eT gfafeet & fohdmeheltul & forw & a&ar T T g A
YUTTelY T U7 Pl &
3.7 IR.T.TA. (RAM) & QU7 &7 & ATF-1
3.8 SELECT & Moy
3.9 AR 3R.EL&.1a.7d. (RDBMS) ICGER:]
3.10 | 30U AR IRIET Rreea S
Hrereer
FARDA FUSE HIS BR
SHIHRAT ST
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3. Match words and phrases in column X with the closest related meaning/

word(s)/phrase(s) in column Y. Enter your selection in the “OMR” answer sheet

supplied with the question paper, following instructions therein. (1x10=10)
X Y
3.1 A supercomputer’s speed measured in A. Artificial-Logic Unit
3.2 ALU stands for B. Oracle
3.3 Computers have several additional storage C. Nanoseconds or Picosecond
location called
3.4 First all-electronic computer was D. Arithmetic-Logic Unit
3.5 ASCII stands for E. Random Access Memory
3.6 Number system we use for our day-to-day F. Register Access Memory
activities
3.7 RAM stands for G. Mark-I
3.8 SELECT is H. Registers
3.9 Popular RDBMS L Linux
3.10 Open Source Operating System dJ. Decimal
K. Octal
L. American standard code for
information interchange
M. SQL command
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4.

A Rgu 91w g ara 3 A &Y 918 g A ve 2reg A1 Ay Y foree o forw R 1T SISt 99 ¥
A 350G ey g 3R 3w B 710 3rge el &1 urere A U 3ua ey wea-ux & ary &3

T “INTHIR” 3R TI6 A gof Pl |

(1x10=10)

A. | F7 B. |F4 ol
D. | Undo E. |F5 ATSAY DIS ATl SAAAT
G. Redo H. Sipic:) TS
J. |= K. |& 1024
41  EHOYET et B qERerS 61 g8 T &t favurfed o wenar & o HedE |
42 A RRINTHRAFOTEA_ Tea Ty ad ¢ |
4.3 TATSS A & forw ATE Te Foir e
4.4 TAUH.IEH A ST & forw FN e |
4.5 UHA.TH.UFH H Bl % & I AIRFH AT & |
4.6 3T T FFYUT HIE & ST URhdl IR Tt 7 vefda frar Srar g |
4.7 A FT TR :
4.8 U AR s & ST Ay Bt B o |
49 130 THH. S REE |

4.10 TIEOT & YA & foT Tagg 3 vep @y T 1S ST Y Fet FEd T |
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in

the list below. Choose the most appropriate option, enter your choice in the

“OMR” answer sheet supplied with the question paper, following instructions

therein. (1x10=10)
A. F7 B. F4 C. | Table
D. Undo E. F5 F. Binary Coded Decimal
G. | Redo H. | Program 1. Record
dJ. = K. & L. 1024
M. | Kernel module

4.1 Computer can execute a prerecorded list of instruction called a

4.2 To cancel the last editing, we use the button.

4.3  The short cut key for slide show is

4.4  The key for spell check in MS Word is

4.5 Formula in MS-Excel begins with sign.

4.6 is a complete collection of data displayed in rows & columns.

4.7 BCD stands for .

4.8 The central module of an operating system is called

4.9 1 GBis equivalent of MB.

4.10 Data items grouped together for storage purpose is called a
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AT &Y/ PART TWO (2) STl HEAT GOTelt 1 <A Y |
(=& TR UEAT & 37 & | /Answer any FOUR (b) JoAT B FFOBR, TR HR
Questions) JHEeT |
(¢ fomaa Far & 3R sadr @
5 (a) HAccreIThd RfET [rea & IAuArT § ?
faraRyde® carear #Y |
o3 . - (a) Explain the binary number
(b)  (B5A)1s I 3iTeFeel # TRdfdc I system.
(¢ TAT-YASTT HYX & FTSdI
STt A oo Y | (b) Compare Compiler, Interpreter
and Assembler
(a) Explain about  Multitasking
operating system in detail. (¢ What is Linux and what are its
features ? (4+6+5=15)
(b) Convert (B5A)16 to Octal.
(c) Explain about the hardware
components of general-purpose () THTEIE F Ae-ae ﬁﬁfﬁT &
) +5+5= S '
computers (5+5+5=15) FOY T T |
... . (b) TH NAT ST FATE ? TP Poll
6 (a) UfaR-Uise HT AAWAr3i w fecgof . e
P Fa1 % ? 3erad H fafde Hiaar a=ar
®?
(b) I H AT FAREAHT FHr
qTEAT Y | (c) Tem # gaar vlafadhr & Aeca &
N AT Y |
(¢ fFwsa divedm 3R uoelipee
I L ()  Explain about Mail-Merge facility
e &Y | in MS-Word with proper steps.
Writ t feat f
(@) p e p 1.10tes on  features o (b)  What is a Relational Database ?
owertotn. What is a key ? What are
(b)  Explain common characteristic of different keys in database ?
the computer.
o . (c) Explain about significance of
(¢) Explain in detail about system information technology in
software and application .
education.
software.
(5+5+5=15) (6+4+5=15)
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9. fFffEd & @ el g & g IR

ddra:

(a)

(b)
(0
(d)

MU @Y F@ivedRR 3R dursed
HIFCAIR

33 3R A

T IR a=RE

TFuele 3R faes

Differentiate between any three of the

following:

(a)

(b)
(0
(d)

Open Source Software and

Proprietary Software
RAM and ROM

SPAM and VIRUS
TEMPLATE and WIZARD

(5+5+5=15)
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